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Surface area/Lateral Area of Prisms and Pyramids  Date Period

Find the surface area of each figure. Round your answers to the nearest témh, if mecessary.
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Find the lateral area and surface area of each figure. Round your answers to the nearest tenth,
if necessary. ‘ ‘ '
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Find the surface area of each figure. Round your answers to the nearest tenth, if necessary.

-
D 10.1 km 6.5 k BC\QL' Ltﬂt‘ 2) W Z«(w)(,g )

(L8 - F(DAS) ks 3L
o 7’(4”9 e < 2

8.7m

Lo (oD e
3) - |
1 ()= v 2(108) "“Zt
1zem _ Z[} =
120 1/(%}'6“/ - 1(’6‘ - HOL

T ()Y

,
3 om Z(‘-\)-—@

. 9.om gzem Z(l@\"%\o

\. 1 (D)2

1 4rrn
5 mi 5 ‘j-:c« |
; /4 i ,
L‘zg?) = - 1 0)7 1L
10 23 @ '
N « 2(29) ’W 5(s)72s
cHUDH SU(1R)= 1§ 514
GT[HD"M;'?/ | 5T -

s =

12) 7t 3t

” T, D=8
! sid S 7/((;?)4L ‘ o ﬂ ¢[ﬂ7$ L‘?/
| Zin F/% 7{[0) /‘.;jz/jl l(zb ,’_/\\2/

'gd.l‘Mnde with Infinite Geco metry.
102 &

© 2020 Kuwta So fiware LL C. Al




1,[4[@] - 141 " )=

9 9 yd

| 2 (1) 7 _- 1D)= ¥
Bm%,c»% ! AD
5 | i‘fi\\om k - TUD vd
ML 2{35) =10
| 2(1 =M
N = O

km ?/[ g} —;_______..:.
‘ R -
Find the lateral area and surface area of-each figure. Round your answers to the nearest tenth, \%

if necessary.
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